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No. of Questions : 150
T ST : 150
Time : 2 Hours Full Marks : 450

797 ; 2 gu QUTE : 450

Note : (1) Attempt as many questions as you can. Each question carries 3
(Three) marks. One mark will be deducted Sor each incorrect
answer. Zero mark will be awarded for cach unattempted
question.

afﬁmmqsﬁrzﬁsamfﬁrmaﬁlmmﬁa(ﬁﬁ)
aﬁw%ammmiﬁqw%mmf
gﬁmajﬁﬁﬁqsﬁwmﬂwam

(2) If more than one alternative answers seem to be approximate to
the correct answer, choose the closest one.

qﬁwﬁmﬁ%waﬁﬁ%ﬁwmﬁ,ﬁsﬁﬁm
T IOx T

01. Which one of the following accepts the knowledge to Abhiva through
perception ?

(1) Mimamsa (2) Nyaya (3) Samkhya (g Bauddha

02. As per Aristotle ‘matter and form’ is said to be
(1} Separable (2) Not separable
(3) Separable in thought (4) None of these

P.T.0,
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03.

04.

05.

FE B AGEAR ‘T SR AR HR A ¥

(1) gt (2) TR

(3) foemd ® gt (4) 3TH § B T8

Logically which one is correct for the Aristotle’s conception of matter
& form :

(1) Matter is prior to form (2) Form is prior to matter

(3) Both are Simultaneous (4) None of these

T ofte § e @ e ANX ST &1 STaEen & T i T
gl 2

(1) == gdacii & (2) SRR gt B
@) @t g ¥ (@) =T q B
Samkhya theory of Causality is known as :

(1) Arambhavada (2) Satkaranavada
(3) Vivartavada (4) Yadriksavada

i ede @l HRoTal [EET STE Sl 8
(1) SITFHA (2) UTHILOTER
(3) forectara (4) TgBEE

‘Eyerything can not be produced from everything’ this statement

entails which theory of causation :
(1) Satkaryavada (2) Asatkaryavada

(3) Akaranavada (4) Satkaror~rada



06.

07.

08.
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‘Hﬁiﬁaﬁﬁmaﬁﬂ%mﬁﬁfﬁﬂaﬁﬁ’%aﬁﬂfﬂw%
P =T &1 gfdureT @t &

(1) TepriaT 2) STHERRIEE

(3) STHRVER (4) EERRUEE

Which one of the following accepts that objects are the copy of ideas ?
(1) Plato (2) Aristotle
(3) Bacon (4) Spinoza

aﬁﬁf@aﬁ@@qw&ﬁmm%ﬁamﬁwﬁaﬁuﬁﬁﬁﬁ
g7

(1) == (2) &Ry

(3) (4) ==

“Substance is that which exists in itself ” - this definition is given by :
(1) Aristotle (2) Descartes

(3) Spinoza (4) Plato

aﬁ?%mmmmﬁ%-%qﬁwﬁ?ﬁ%m
?

(1) S=&y (2) <@

(3) & HreT (4) <o

Which one is true for the God of Nyaya philosophy ?

(1) Material cause (2) Cofficient cause

(3) Samviyee cause (4) None of them

T TF A N B dev B Ro gl D o

(1) IUrE FHROT 2) [y oy

(3) THARY T ) ¥ & 9 95
5
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09,

10.

11.

Nyaya theory of illusion is known as :
(1)  Atma khyati (2) Anyatha khyati
(3) Viparita khyati (4) Asat khyati

29T T g9 s ST o @

(1) 19 @it (2) ST T

(3) faudrg i (4) oTHq e
‘Anuvyavasiyavada’ is related to which one of the following ?
(1) Mimamsa (2) Samkhya

(3) Bauddha (4) Nyaya
‘FgeaREaE Jdfiag ¥ 9 g gafaa @ 7

(1) e (2) @™

(3) arz (4) =™

Valid means of cognition as per Samkhya phiIosophy 1s :

(1} Two (2) Three (3) Four (4) Six
Alen asfA & SR AT TN B G B HEAT E

(1) & (2) O (3) =X (4) BB

2. Who has said ‘every determination is negation’ ?

(1) Descartes (2) Aristotle
(3) Plato (4) Spinoza

o wel ¢ ade fae ww ey 87
(1) &rd (2) ST

3 < (4) €S



13.

14,

15.

16.
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What Descartes has proved by his method of doubt :

(1) God (2) Cogito

(3) External world (4) None of these

IR T A Ele Ry § aar fom fear B 7

(1) g% (2) T

(3) &I STTq 4) FH q HE 7L
Numbers of Dravyas as per Vaiéesika Philosophy are :

(1) Eight (2) Six (3) Nine (4) Four
J9lfter 29 & ergar zalt % e ¥

(1) o1 - (2) ©BB (3) =r (4) =T

Which one is the first evolute as per the Samkhya Theory of Evolusion ?
(1) Ahamkara (2) Mahat

(3) Tanmatra (4) Buddhi

W@h%ﬁiﬁmﬂﬁfﬁ@m%mﬂmmw%?
(1) &P (2) =&g

-~

(3) T (4) I

The idea of God as per Descartes comes under

which
following ? one of the

(1) Adventitious idea (2) Imaginary jdeq

(3) Innate idea (4) None of these

P.T.0,
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TR § T 2997 @1 Ny STHfatad # | fha o & o

I ® 7
(1) SRS Iy (2) AR TG
(3) TSI gl (4) ZTH g I3 &l

17. Which one is applicable to Aristotle’s conception of form ?
(1)  Form is material cause
(2) Form is actuality
(3) Form is potentiality

(4) Irorm 1s neither actuality nor potentiality

ST A TR U SR TN O T e @
(1) ST IO @R @

(20 OTrETT ATRETrRET ¥

(3) STHR @El &

(4) TR A St aTedfasar & oI 9 & WEEE

18. Who holds that “Man is the measure of all things.” ?

(1) Protagoras (2) Georgias

13) Hippias (4) Anagjagoras
qﬂm}zﬁﬂ?ﬂ%ﬁ “ﬂmwﬂa@aﬁwm%”?
() dErTRE (2) ShfTEE

3) (4) TAETIE

.




19.

20.

21.
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Which one is the highest form of knowledge, as per Plato ?
(1) Conjectural knowledge (2) Knowledge by sense organs

(3) Hypothetical knowledge (4) Rational insight

T/ B T Falfad geaeady 99, @6 $ SER 7

(1) wfersniRes s (2) =g g=@e s

(3) 9mIEr = (4) NiEw sadfe
Which one is not included by charvika under Mahabhutas ?
(1) Earth (2) Space

(3) Fire (4) Water

B U Amath @ werg § aieRie a8 Rear mr 7
(1) gedt (2) SARBINT

(3) <Ay (4) T

Who holds that valid means of knowledge are only perception and

inference ?

(1) Nyaya & Vaigesika (2) Vaisesika & Bauddhg

(3) Samkhya & Vaisesika (4) Bauddha & Samkhya
?{H%%Hmw%mﬁ%aamaaﬁ?aﬁmﬁaﬁﬁmﬁw
HIAT B 7

(1) =g o IQfys (2) I9MF g g
(3) HEA wd Jgfwes (4) aﬁgqa-m@

P.T.Q,
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22. The total number of Tattvas as per Samkhya are :
(1) Sixteen (2) Twenty four
(3) Twenty five (4) Two

Hred 29 & SPAR e ol B EE ®
(1) @ () | (@) g (@) &

23, Which one of the following Vaiscsika category is mot consist of
Samanya ?
(1) Dravya (2) Guna
(3] Karma (4) Visesa
ST 33T e A A o @ | gad @t g
(1) &2 (2) I
o (4) o

24. Which one of the following is not accepted by Charvika ?

(1) Hedonism (2) Materialism

(3)  Sense — perceptualism (4) ldealism

fafEE @ B U gt B @ e 7
GRS I UGEZIEY

3) gled - T (4) SRS

one is correct for the Samkhya view of Purusa ?

(2) Non-active & enjoyer

\}w.'r ]PL ;x C }jx

i

(11 Active & enjoyer

Jon-active & Non-enjoyer (4) None of the above

10
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959 faugs diem gitesr & o @ b §d & 7

(1) " T Hean 2) Ffra ofiv st

(3) MMHa ST 314raml (4) SUgwT § § FE Sk
. Which one of the following is correctly matched ?

(1) Green & Gita (2) Hegel & Gita

(3) Benthem & Gita (4) Kant & Gita

ANfeifaT & |§ #9 ok 78 gake 2 ?

(1) = od fra (2) BT wd frar

(3) dy" ug T 4) FiE Tq e

. Which set of proposition is contrary ?

(1) E&I (2) E&O 3) E&A (4) A&

CIES (2) ¥ wd of
T (4) QT TF oE

- Which one is correct for a proposition ?

(1) Always true (2} Always false

(3) Either true or false (4) Neither true nop falge

qiosIiT & R &9 o g8 © 7

(1} 939 a9 (2) FF ey

(B) = o T A IrHy ‘4]:’3}‘:@#@;@@
11
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29. Which one is not correct for a deductive argument ?

(1) Formal (2) Vald

(3) Invalid (4) Possible
fFrmeTenes gferg & forg g9 @ @ o |8t Té & 7
(1) SIpies (2) ae

(3) 1Ay (4) &

30. ‘Essi Est Percipi’ leads toward which typie of philosophy ?

(1} Realism (2) Objective Idealism
(3) Subjective Idealism (4) Critical Realism
il avadl ¥ - fhE gER B &9 @ SR i W ® 7
(1) azﬁ_a}a [2] a@‘?“iﬁa Taqadis
12) AT TTgdIQ (4) GHIEHSD GG
31, Who maintains that “substance is that a know but not what” ?
(1) Descartes (2) Berkeley
(3) Locke (4) Hume

mﬁﬁ“mﬂaﬂaﬂ%faﬁm@w%sﬁaﬁmﬂﬁaaqﬁ
1) rerrd (2) Tt
) (4) =

= e is not included in the four fold causes of Aristotle :
32, Which on

. Efficient cause
(1) Material cause (2)

fficient cause
use (4) Su
o) Formal @

12



33.

34.

35.
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ST AR HRO H A o afuR wé e mm S
(1) JURM T (2) M @reer
(3) AR HIoT (4) 9greT SHer

How many propositions are there in Pararthanuman as per Buddhist

Logicians ?

(1) Ten (2) Three (3) Five (4) Four
TG A F srgar TRIFAH & fhas sragg 29 & 7

(1) == (2 &= (3) (4) =R

Aristotle’s Dictum de omni etnullo’ applies to which figure ?

(1) First (2)  Second (3) Third (4) Fourth
WWW‘WQMW’%WW@H@W
g7

(1) s 2 fedm (3 gy (@) =gt

o

Which one is not appropriate for charvikg ?
(1)  Vyapti can not be estabilished

(2} Akash is not Mahabhuta

(3) There is no papa - punya

(4) Sense - pleasure is not valuable

13
P.T.0
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38.

s % fow SE-ar uw qd T8l g v
(1) =iy &l wray qea 8 8

(2) =RIIT et AEl €

(3) [r-gea =@

(4) sfEg-ga geadr T 2

Who maintains that illusion is ‘Smriti - Pramosa’ ?

(1} Kumanil (2) Kanad
2) Kapil (4) Prabhakar
B AT § 6 owH wgfy - s 8 7
(1) gt (2) HOTE
(3) &M (4) THTHT
. 'Jnatatavada' is advocated by whome ?
(1) Kapil (2) Gautam
(3)  Kumaril (4) Shankara

saarare T afare feae fRar @ 7

) e (2) A
(3) A (4) AT
Who maintains that only intermediate perception is pure

perception ?
(2) Charvika

(4) Gautam

(1) Kanada
(3) Dinnaga

g7
;gq-ugEﬁ?ﬂﬁﬁfaﬂfﬂ?§ﬁ$'%aﬁ'ﬁﬁiﬁaﬁﬁSﬁqa'gT%EiEﬁqH g
e (2) wmEtE

@) e

14



39.

40.

41.

42.

16P/236/4

Which school of Buddhism represents ‘critical realism” ?
(1) Vaibhasika (2) Sautriantika
(3) Madhyamik (4) Yogachara

aﬁaa&ﬁwaﬁnw‘aﬁwm@mﬁ’mmﬂm
g7 |

(1) Juriys 2) H=nfaes
(3) =Teafies (4) FrER
Which school of Buddhism maintains ¢ Bihyanumeyavada’ ?
(1) Vaibhasika (2) Sautrantika
(3) Madhymik (4) Yogachar
s G B BT T AEATRGET B e ¥ 2
(1) giaes (2) Qs
(3) wTegfeR (4) IFTER
Dualism is applicable for which of the following 7
(1) Spinoza (2) Descartes
(3) Berkeley (4) Hume
a&ﬁ%@aﬁﬁmmmm%&aﬁﬁw%?
(1) T (2) ¥pret
(3) A 4) &
Which Philosophy can be expressed as Pantheism ?
(1) Descartes (2) Spinoza
(3) Leibnitze (4) Plato
15
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43.

44.

45.

[Fees 299 @l gdsadae & w9 § =g [har off 9dr & °

-

(1) <= (2) TS

(3) wEEt (4) e

Who holds that ‘Every Determination is Negation’ ?
(1} Plato (2) Aristotle
(3) Spinoza (4) Locke

S T ® B Cudes e o g 2707
(1) =i (2) ST

(3) == (4) R

Four-fold causes of Aristotle can be reduced to :
(1) Matenal & Efficient cause  (2) Efficient & Final cause

(3) Material & Formal cause (4) Formal & Efficient cause

A % AT FRON B ST bt S wesar ¥
(1) SureH 37 e swor |

(2) T od @& Hreer o

(3) TIUET Td IAHIH HOT I

(&) e @ i wreer

Which one is not appropriate for the Platonic conception of Idea ?

(1) Eternality (2) Temporality

(3) Univesality (4) Transcendentality
Wﬁmr—%ﬁaﬁmw%ﬁmﬁq@@ﬁ%?
(1) e (2) @ifcTeRar

(3) Frd (4) Tl

16



46.

47.

48,

Who admits ‘ Duty for duty Shake’ ?

(1) Hegel (2) Kant
(3) Mill (4) Benthem
B R Fr ¥ Fiem @ fg e ?

(1) 2 (2) Wiw

(@) fA (4) TFeH
Which one is not correctly matched ?

(1) Mind is Tabularasa - Descartes
(2] Cogito Ergo sum - Descartes
(3) Natura Naturata - Spinoza
(4) Natura Naturance - Spinoza
D uH gAfeg T8 P

(1) A15°S 391 SYRIRIHT - Sd

(2) @IS @ 9o - et

(3) g g -
(4) TgT T R

Which one is not correctly matched ?
(1)  Unmoved mover - Aristotle
(2) Virtue is Knowledge - Socrates
(3) Windowless Monad - Leibnitze

(4) Sckepticism - Hume

N AR T R

(1) TS NEAS - IREY

(2) FLIT 9 2 - g

B) TEET Refry  -ggaf

(4) H%Baﬁ' - g\?iq
17
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49, “Composit things are made for others” this statement of Samkhya

50.

1.

52.

Philosophy entails the existence of :
(1) Purusa (2) Prakriti
(3) Both (4) Neither Both

HOTT e |iEd &9 @ g8 U ST Sl ST Il
A

(1) F59 (2) oo

(3) &I (4) @ T

Which one is not correctly matched :
(1) Samkhya - Traigunyavada (2) Yoga - Creator God
(3)  Mimamsa - Niyogavada (4) VaiSesika - Parmanuvada

(1) aed - FoaaE () =T - ghewdl @R

(3) i - FErEE (4) 3w - TATEE
Which one is not related to Trikaya of Buddha ?

(1) Dharmakaya (2) Mahakaya

(3) Nirmanakaya (4) Sambhogakdya
A o ga & ey H A T E 7

(1) gHem (2) HEHE

(3) fmTHE (4) TEITEEE

which Philosophy accepts ‘Not Self Theory’ alongwith theory of karma
and rebirth ?

(1) Ajivaka 2)
(4) Mimamsaka

Saugata

v

(q} Lokayal

18



53.

54.

S3.
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HH-F1 &9l HAATHAE & A-ATT FH Td Ao H s w
PR Har & 7

(1) SAigs (2) v

(3) B (4) e

Which Nyaya Philosopher has given proofs for the existence of God

for the first time ?
(1) Gautam (2) Vatsyayan
(3) Udyotkar (4) Udayana

e = 1sife A e et & offtard & Rie s weg R

g7
(1) "aw (2) T
(3)  TENERT (4) IO

Which one is correctly matched ?

(1) VaiSesika — Adrista (2) Mimamsi - Moksa
(3) Bauddha - Anuvrata (4) Jain - Pancha shila
T UE wE gAfe 2
(1) AA¥H- Y5 (2) HEr - Oy
8) drE - SvEd (4) SM- desfig
Which one is not associated with Madhyamika school of Buddhisy »
(1) Aryadeva (2) Nagarjuna
(3) Bhavaviveka (4) Dharmottar
19

P.T.0



16P/236/4

S56.

57.

58.

® UF dig a9q & Hreatis geE 9 g J8t 8 7

(1) SAEeE (2) AFISEA
(3) e (4) oA
Who is called Nyaya Bhagyakar ?

(1) Vatsydyan (2) Udyotkar
(3) Udayana (4) Gangesh

fFY =g SRR el ST © ¢
(1) e (2) TETRT

(3) IJ=AA (4) T

As‘pfer Kathavatthu’, how many sects of Buddhism were divided on
religious ground ?

(1) Six (2) Twelve (3) Eighteen (4) Four
enaﬁwgz%~afgﬂxaiaisniuﬁﬁaaanun:wtﬁxa%fﬁaﬂﬁfﬁ=aﬁﬂ=vn

o 7
(1) == (2) dE (3) STOIRE (4) =X

Devadatta does not eat in night, yet he is healthy’ is an example of
which means of valid knowledge ?

(1) Upamana (2) Arthapatti

(3) anuplabdhl (4) Anumana

e AE H AT 8t e, f6e ot ge Hier 87 ge fhE

1 TAET T ¢
(2) orfafc

20
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59. Accepted kinds of Arthapatti are :

(1) Three (2) Five (3) Six (4) Seven
FATIT & g g &
(1) = (2) dg (3) ®® (4) @

60. Who holds Unatata Linganumeya Vada’ ?

(1) Prabhakar (2) Kumari]

(3) Shankar Mishra (4) Gaga Bhatta
ST [T are @ e s & 2

(1) H9rHy (2)  FERE

(8) AT oy (4) T we=

61. Theory of Triputi-Pratyaksa’ is propounded by whom ?

{1) Muréri Mishra (2) Kumaril Bhatta
(3) Prabhakar (4) "Udayana
‘figa”—ma’m%@aﬁmﬁﬁ%mﬁaﬁm% ?
(1) R Ty (2) HRS qae
(3) THTHT (4) Tags

62. Which one is not correctly matcheq 2
(1) Vaisesika

- Verbal testjn ony
(2) N yaya

- Anuvyavasaya
(3) Mimamsa R

(4) Buddhism

Svarga - Naraka

- Apoha

21
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1) a9 S L L

(@) == - A

(3) HrmiaT _ =t - A
(4) drE a9 _ o

63. Which one is not correctly matched ?
(1) Dinnage - Apoha
(2) Kumaril - Anvitabhidhan
(3) Nyaya - Praman - Samplava
(4) Bauddha - Praména - Vyavastha
P wF gAkd TE T 7
(1) FrgamT - aTE (2) FERE - SAFaa
o =@ - e e~ HATT - ST

64. Who holds Abhihitanvayavada ?
(1) Kumaril
(3) Nagesh
sffearETaTE @ TR B T 7

(2) Prabhakar
(4) Panini

@) @
65. Which number is correct for the Kant’s Categories of understanding :
(1) Thre€ (2) Twelve
(4) Eight

(3) gixteen

22



66.

67.

68,
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BT F g A AR B R B g

(1) = (2) «E

(3) dras (4) ST
Who awoke Kant from dogmatic slumber ?

(1) Plato (2) Hegel
(3} Hume (4) Berkeley
ma%%aﬁaiuﬁsamaﬁﬁmﬁmw?
1) w= (2) ¥

(3) &gH (4) IFH

Berkeley has refuted -

(1) Only Abstract Idea

(2)  Only General Ides

(3) Abstract & Genera]l Idea Both

(4) None of these

9T 3 @USH Ry R

(1) Paa o7 oy

(2) %A = ey

B) Td 9™ O Ay gy AL
(4) 7 & B¢ 7

Which one is correctly matched ?

(1) Kant— Nagarzung (2] Berkeley - Vag

(3) Hume - Gautam (4} Spinozg _ Kapij

Ubangh,,

23
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69.

70.

71. Theory of P

e uh qE gRe § 7

&&BW_W (Q)Elﬂgﬁ—aga‘rg
@) g - e @) T -

As per Jain Philosophy, ' Time' is
(1)  Astikaya

(2) Anstikaya

(3) Mithya

(4) None of these

3 asf & STgAR ‘BT ®
(1) oIS (2) STREEE
(3) Fea @) T A FE T

Which school of Buddhism does not accept the real existence of past

and fuware 7
(1) Sarvastivada (2) Sautrantik

(3) Mahasanghik (4) All the three

Sy e B T AT S W & anaE S
it gl !
(1) ERaEe

(3) FETEH

. - estabilished harmony is propauned by :
(2) Aristotle

(2) QE<ID
(4) @eft

(1) gerkeley
: 4) Spinoza
3) Leibnitz® (4) SP
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72.

73.

74.

16P/236/4

ey | P gfafe fear e 2o
(1) I g (2) STEY ara
(3) WRERR = (4) =T g

As per Spinoza man can know only :
(1) Two attributes of substance

(2) Three attributes of substance
(3)  Four attributes of substance

(4) Infinite attributes of substance

(1) 2 & & 7o (2) =8 & 7 oy
3) == & A oy (4) 221 B ST o
‘God as first efficient cayge’ is admitted by :

(1) St. Augustine (2) St Aquinas

(3) Spinoza (4) St. Anselms
‘qwﬁmﬁw%mﬁrs‘m’aﬁ@aﬂ?%m%;
(1) & erTeizsy (2) €I weEAg

(3) ¥ (4) & TRewg

‘Summa Theologica’ was written by .

(1) St. Augustine 2

3} St. Ansel
(3 nselms (‘” St, Francisy

25
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Fe RERINET & d@E d

(1) | SrTEmE () T o THREE
(3) Ha THeHd (4) G wrgE

75. Which one of the following books is written by Spinoza ?
(1) Meditations (2) Ethics
(3) Republic (4) LeMonade
sdiforEd # A did-d e eieer & g Rl S E 7
(1) ABrd (2) it
(3) frofes (4) FETE

76. Which one is not related to the Philosophy of Descartes ?

(1) Dualism (2) Interactionism
(3) Exterior God (4) Parallelism
aaqqm%mﬁ?%asﬁ%wﬁaﬁqﬁ%?
(1) &4 (2) SFIEHIES
() g @ dEdl BT (4) FAETAILET
77. Who refutes innate ideas ?

(2) Aristotle
(1) plato

(4) Locke
(3] Sp'moza
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78.

79.

80.

16P/236/%

SIS Io9d & @S 1 ] & 7

(1) = (2) o
(3) wST (4) Tep
The term ‘Subjective Spirit’ is related to :

(1) Bradeley (2) Hegel
(3] Green (4) Hobes
welired ffte g frad grafug & 7
(1) == (2) &
(3) #+ (4) 2fem
Which one is correctly matched ?

(1) Kant - Mind makes the nature

(2) Hume - Copernicus revolusion

(3) Lock ~ Issi est percipi

(4) Descartes - Natura Naturata

(1) = - I R A Ffor e o
(2) Zgm - Fueg mitg

27
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81.

82.

83.

‘ghe & faufaual @ afaues ggwaar [Reas fEar 8 7

(1) 27 (2) E

(3) =l (4) e
Nyaya Philosophy does not admit :

(1) Apauruseyata (2) Anuvyavasaya
(3) Anyathakhyati (4) Apavarga
g T3 Wi e FRal §

(1) AT (2) HJHTHE
(3) STaUTEAIT (4) e
Which one is not included in Prasthan Trayee ?
(1) Gita (2) Upanisad
(3) Brahmasutra (4) Purana
7 o S § atwfe T8 R 7

(1) e (2) SAFIE
(3) @G (4) 3T

Who accepts Bhakti as fifth Purusartha ?

(1) Shankara (2) Vallabha

(3) Ram Krishna (4) Mandan Mishra

| 2) I
(1) rp{ (2) "
(3) THHT (4) wos P
84, Who accepts ‘gvagat Bheda’ in Brahman ? |
(1) Shankara (2) Ramanuja

Mish
@) Madhusudar (4) Mandan Mishra
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85.

86.

87.

16P/236/4

Sgd 0 @I WS e W & 7

(1) T (2) THTIS
(3) HAYFET (4) HoSH M=

Who has provided seven-fold criticism against Maya theory ?

(1) Ramanuja (2) Madhva

(3) Bhaskar (4) Shriharsha

AEA-RAET # 6w e waiiy siafardt e fear 3 7
(1) IS (2) A

(3) =R (4) =itsd

Which one is correctly matched ?

(1) Vaisheshika -  Verbal testimony
(2) Bauddha - Verbal tecstimony
(3) Charvaka - Verbal testimony
(4) Mimamsa - Verbal testimony
B o T gARE § 7

(1) Aifern - U= gmroy

(2) drx - = umpop

(3) TEER - 9= ygror

(4) =i - 9= Omoy

Which one is not a kind of Supranatural Perception ag per Nya
yaya

Philosophy ?
(1) - Samanyalaksan (2)  Jfianalakgan
(3) Manas (4)  Yogaj

29
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88.

89.

W@ﬁ%@ﬂﬂr{ﬁﬂﬁaﬁﬁﬁﬁﬁﬂﬁaﬁfmﬁ%?
(1) GTHFEE] (2) SITTEToT
(3) HIH (4) AN

Which one is not acceptable to Advaita vedanta ?

(1) Vivartavada (2) Ishvara

(3) Pratibhasika satti (4) Law of excluded Middle
P TF Fed Jard & Qe et § 7

(1) e (2) Z9a¥

(3) wnfaemides AT (4) wegq uiter fam

What type of compulsion in moral imperative is accepted by Kant ?

(1) Internal (2) External

(3) Divine (4) Circumstantial

mmmﬁmwm%maﬂhﬁﬁaﬁwm%?

(1) et (2) dred

(3) & (4) uRRefde=
90. ‘Good will is good by itself ' who has said it ?

(1) Sidgwik (2) Mill

[3] Hcgel (4) Kant

;gﬂqmmﬁmﬁgﬂ%%ﬁﬁaﬁm%?

(1) fasies (2) o

) X (4) W
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91.

92.

93.

9q.

16P/236/4

Which one is not the postulate of morality as per Kant ?

(1) Existence of God (2) Immortality of Soul
(3) Freedom of Will (4) Feeling of Benevolence
PIT & ATAR BT @ AT & g wd § 2
(1) F9a% =1 orfeae (2) STeHT F STHET
(3) =W H Wiy (4) BT & TG
What is the base of mora] values as per Intutionism ?

(1) God (2) Benevolence

(3) Consience (4) Reason
TETA & STgaR A 5wt 1 oy a4y & 7

(1) e (2) RWYyspR

(3)  SFrTET (4) ghe

Who has said that Philosophy is not thcbl'y but therapy ?
(1) Ayer (2) Carnap

(3) Russe] (4) Wittgenstein
ﬁﬁaﬁm%ﬁsi&h%@ﬁﬂﬁ,w%?

(1) ©gx (2) =199

(3) @@ (4) Rt

Picture theory of language is propopunded by :

(1} Wittgenstein (2) Russel

(3)  Ayer (4) Price

T B R Ry gRvefee e TR

(1) RfTERT gy (2) & zry
31
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95. Who has proved that existence of anything is not its perception :

96.

97.

98. According

(1) Russel (2) Moore
(3) Hume (4) Husserl

Frad @ Rrs Fear & P e awg @ Ol e geAar TE 8
(1) & (2) W
13) &g (4) BEIA

Scientific knowledge, according to Kant, is :
(1) Analytic (2) Apriori
(3) Synthetic (4) Synthetic apriori

Fie & JETT gt T T

(1) feresreomcTes (2) SRR
(3) TS (4) GIATUTETR AT

According to Kant time and space are .
(1) Quality of matter (2) Matter themselves
(3) A priori forms of intution (4) Relation between things

(1) &/gFIT (2) =" TG
e & ST S (4) qegad & 4" qE

o to Hume impressions are obtained through :

(1) Sensation (2) Reflection
(3 Imagination (4) All the three
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BIH & AR @R oTe F7T F ey ¥
(1) Hae=r (2) ufcrafd fa==
(3) =TT (4) wfr it

99. Who has accepted that there is no difference between Creator God
and Created World ?

(1) Hegel (2) Spinoza

(3) Plato (4) Kant
wéam@wmﬁ%ﬁmﬁﬁﬁmﬂﬁﬁm%?
(1) & (2) =T

(3) wiel (4) i

100. ‘Pineal gland’ is related to whome ?

(1) Aristotle (2} Spinoza
(3) Descartes (4) Locke
TATT-AEY & ey el 7
1) smeg (2) T
(3) e (4) dfm
101. Essential features of Dharma, as per Manu, are -
(1) Eleven (2) Twelve
(3) Ten (4) Eight
T3 P AFAR o B g ey B
(1) e (2) s=
(3) &g @ 3
33
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102. Dharma is that which leads to Abhyudaya & Nihshreyash’, this
definition is given by ?
(1) Gautama (2) Kanada
(3) Manu (4) Chanakya
‘uﬁaa%ﬁraaﬂaﬂaﬂ?ﬁ:amfwaﬂm%’,ugqﬁﬂwﬁmﬁ
27
(1) et A (2) @®OTE |
(3 " A (4) =R A

103. Which one is not related to Gita ?

(1) Purshotama (2) Sthitiprajna
(3) Akshara (4) Mahakaruna
Srp e W # wargd e el
(1) gaur (2) Referast
(3) &L (4) HBIRoeT
104.Which one 18 ‘Anirvachaniya’ as per Advaita vedant ?
(1) Brahma (2) World
(3) Individual Self (4) God
e e @ aﬁymi'éﬁﬁtvﬁfaﬁﬁéfﬁ%q’%‘?
GG
1) 7 e
il &
105.As per ghankal, Moksha can be obtaind by :
Karma (2) Bhakti
o
[ ™ 4) Prapati
(3) Jnand
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KT & AT el ATy Phar o gy

(1) 4 4 (2) =R 4

(3) = (4) "ufer &
106.For which Hegel has said “God is like lion’s den” ?

(1) Spinoza (2) Descartes

(8) Aquinas (4) Berkeley

e Rre 89 7 ey - I IR B A e 2

(1) =i (2) I

(3) werdTar (4) s
107.‘Bodhisatva’ is related to ;

(1) Hinayana (2) Mahayana

(3) Both (4) Sarvastivada

‘N Tafeag 2

(1) e (2) Herd T s

(3) @t (4) waitEarg
108.‘Religion of Man’ is written by :

(I) Tagore (2) Vivekanand

(3) Radhakrishnan (4) Gandhj

‘ﬁﬁa?emﬁ?’%%w%:

(1) M (2) &=
(3) Rremepsery (4) R

109. Which one js not correctly matched ?
(1) Radhakrishnay _ Life Divine

(2) Aurbindo ~ Ideal of Human Unity

(3) Dayanand = Satyarth Prakash
(4) Tagere - Gitanjali
35
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RIH-H] U Tj—qqlcf*ﬁ TEl & 7

(1] TamE=T™ R FERETIES

Q) e - omefena ol g g
(3) zATT= - e AT

[4) T - e

110. ‘Hind Swaraj’ was written by :

(1) M. K. Gandhi (2) M. N. Roy

(3) M. M. Malviya (4) M. Pannikar

Tewg wr for@l T3 et

(1) L &L M & (2) TH. gA. AT W
(3) U, OH. ARERE &R (4) TwH. qfoIERY BT

111. ‘Lssential Unity of All Religions” was written by :

(1) Vivekananda (2) Radha Krishnan
(3) Bhagwandas (4) Devaraj
‘mﬁqcﬁzﬁgﬁ'qﬁm’%%m%‘:

(1) [EEE< (2) ETRT

(3) rEarard (4) RS

idea of Universal Religion’ is propounded by :

12 The |
(1) Swarml Vivekanand (2) Dayanand Sarswatl
- Bm:crwandas (4) Radhakrishnan
ey GH Rrem glaarteg ferar 1T 2
| qgpdt R T () A< TR &

(1 IGin

1
) AR

(4) ST &7
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113.The term ‘Humanism’ is not applicable to which of the following ?

(I} M. N. Roy (2) R.N. Tagore

(3) N. K.Devaraj (4) K. C. Bhattacharya

Hﬁ%@ﬁﬁﬁ%ﬂ%%{q‘w’q&ﬂ%%ﬁﬁmﬁ%?

(1) . . 1g (2) IR. . Fk

(8) TH. F. o (4) B. &. wEeEr
114. Who admits cqual respect to all religions ?

(1) Mahatma Gandhi (2)  Swami Vevekanand

(3) Ravindranath Tagore (4)  Shri Aurbindg

AT T B E B g7

(1) =& iredy (2) @Y =

(3) =iy Te (4) o orfa=
115.Inter - religious dialogue’ is more advocated by whome »

(1) Vivekanand | (2)  Rammohan Roy

(3) Mahatma Gandhi (4) Radhakrishnan

STUHITS T &1 arfirms el P Rear & 7

(1) Rdem= (2) IAES

(3) HETEHT Tyefy (4) TMHEE
116. The word is like 4 dream. This view is advocated by -

(1) Yogachar (2) Vaibhasiks

(3) Advaita Vedant (4) None of thege
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SHTG A 8| 29 e @ gnde o e o

(1) 4rER 21 (2) Ao g
(3] ITEd dard B (4) T T HE AEl

117. ‘Principle of Cosmic Error’ is related to :
(1)  Ramkrishna (2) Vivekanand

(3) Tagore (4) Radhakrishnan

fava a0 Rsra’ @rataa ¥
(1) THFST (2) fEEE=
(3) 7 (4) TP

118. Who admits that Good is indefinable ?
(1)  Moore (2) Mill
(3) Bentham (4) Spencer
e wreEr & f g STURAT § 7
S (2) P
(3) dgH (4) WX

free’- who made this statement ?
(2) Ayer
(4) Husserl

119.‘Man is condemned to be

(1) Jams
) »artre

e ﬁﬁ'%‘ﬁﬂzaﬁﬁmwr%’—-aa'maﬂ'EHW$r% ?
2) TN

(4) e

(1) S
A

(3]
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120.How many levels of theoratic consciousness as per K.C.

Bhattacharya ?

(1) Three (2) Four (3) Five (4) Six
F. W e & ergar Switw Sa @ Ry ' ¥ 7
(1) T (2) =) (3) dr (4) ®%

121. Which one is not related to the origin of religion ?

(1)  Animism (2) Spritism
(3) Manism [4) Magicism
T-8 O o & Igm § grated a8 L -
(1) Sigarg (2) uTEg
@) T (4) gaTE

122.‘Eye for eye and tooth for tooth’ is accepted by whjch theory of
punishment ?

(1) Preventive (2) Retributive
{3) Reformative (4) Administrative

Y & U s sl T B RIu 2Fr =y e 7T Ryai~] HjH|
S :

(1) ™adaare (2) SRYHREE
(3) Furard (4) gemafyes
123.Which one is not related to Buddhism ?
(1) Three Teachings (2) Three Kayq
(3] Three Pitaka (4)  Three Ring
39
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FE - A1 UF dls 9 g gefad q8t § 7
(1) &= [Gremd (2) 99 BE
(3) = fuees (4) @ F=OT

124, Intrinsic validity of knowledge is accepted by :
(1) Kumaril (2) Kanada
(3) Dharmkirti (4) Udayan

AR A Uy SR e TR

(1) FAMNRA B (2) FHOME B
3y awAlfd g (4) SEA &

125. ‘Existence Precedes Essence’ — this statement is related to :
(1) Logical possitivism (2) Existentialism

(3) Phenomenology (4) Sckepticism

sifeaer @re @ G ¥ - g8 wue gt ®

(1) diideh HEadE § (2) AR 9

(3) oA A (4) degaE |
126. ‘Naturalistic fallacy’ is related to

'|\l'll Niuore (Q) Bentham

(3) Spencer (4) Mill

giaad e wEia ¥ |

1) | () =7 A

oy e @) fow
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127."Mind is ghost in machine’ - is related to :

(1) Ryle (2) Moore

(3) Carnap (4) Quine

AT 7 F o - ety ¥

(1) = (2) T

(3) MY 4) =@
128.The theory of §ustice as fairness’ is namely related to ?

(1) Rowls (2) Russel

(3} Ryle (4) Ross

‘ﬁrwm’fﬁrfamw:ﬁmﬁwaﬁuﬁ%?

(1) ed q 2) @S

(3) W= | (4) g a

129.Who has made Copernicus Revolution in Philosophy ?

(1) Locke (2) Bacon
(3) Hume (4) Kant
29 & PPy mifg fpgm 5 & 2
(1) dfs (2)
(3) &gH (4) e
130. Highest good for highest numbers’ is related to -
(1) Naturalism (2) Utilitarianigyy,
(3] Hedonism (4) Intutionism

.

(1) "giaare | (2) SUIEER &
(3) @"@E”E i (4 SRIIERE g
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131. As per Plato, which one is more significant virtues ?

(1) Courage (2) Temperance
(3) Justice (4) Wisdom
ST & TgEN, A U ST el 6T ¥ 7
(1) 4ot (2) ©IH

3) = (4) o

132.Which one is not a kind of Hetu as per Buddhist Logicians ?

(1) Svabhiva (2) Karya

(3)  Anuplabdhi (4) Upalabdhi

AT U ar A @ AR eg H T AEf & 7

(L) e (2)

(3) oTguaIe (4) Sudted
133.‘Arhat’ strives for the liberation of :

(1) Own self (2) All monks |

(3) All creatures (4) All human beings

o e @ f T ST 2

(1) @9 fore (2) D= &s;?igq

(3) g @ [T (4) WIS A

1 AVa 1 ?
134.Which number of Parmitis is famous 1n Mahayana Buddhism -

(1) Ten (2) Six (3) Five (4) Four
: ' = o ¥ it 8 7

o gl B AT HEE Al

(TTTT (2) ©e (3) 9 (4) TR

et eIl Of PhllOSOphy admits the ‘Prﬁp)fakantvas Of cense -

135. Which i}bub
TS f '—
(‘l {:_::f_-\; L . 2] Nyaya

3 1S [ ‘
‘\l"; bklddhi [4] Nelther .

th .

(3 Bo
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B - A I GERE A B UaERe @ & war T 7

(1) =z Z9i (2) =T g
(3) (4) @ e

136. Which one is not correct for Nyaya Philosophy ?
(1) Sixteen categories
(2) Four means of Valid knowledge
(3) Paratah Pramanya
(4) Swasamvedan

ﬁ?—mwm@h%maﬁﬁiﬁ%?

(1) drsereref (2) =TT gHTT

(3) UXa: urHTYY (4) TTEA=
137.Which one is not correct for Berkeley’s idealism ?

(1) Essi Est Percipi (2) AbstractIdea

(3) God (4) Empricism

T F G @ R oA v wd e D

(1) |« gegar & (2) STy

8) Fx (4) STgHaEe
138.Which one is not correct for Gandhian Philosophy ?

(1) Satyagrah (2) Sarvaodaya

(3) God is truth (4) Ahimsa

T 3R F R A uw wd e 2 7

(1) e (2) A"

(3) %%} @9 B (4)  arfEm
139."Man is born free however, he is Cvery were in chains’ this statement

is given by :

(1) Hobes (2) Rosseay

(3) Maclver (4) Locke
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T JAF T AT B, Y off ARl 9% 9Ra B @ I8 HUH
frert & 7

(8) HeTEA @) @

140. Which one is not related to Marxism ?

(1) Dialectical materialism (2) Class struggle

(3}  Surplus value (4) Doctrine of Trusteeship

Fr-@r U wreRdare @ o el A8l g 7

(1) E2rTs Hikwas (2) @t Fud

(3) e WA (4) = REsT=
141. Which one is not correctly matched ?

(I) John Dewy — pragmatic Humanism

2y M. N. Roy - Radical Humanism

(3) J. L. Nehru — Scientific Humanism

(4} N. K. Devaraj - Theo - Centric Humanism

FrF-T1 U AR |el el § ¢

(1) o 34 - arefferaTees HIadT

i

2y uH. oA T e AR
(3) SR A EE - Rt ATeaT
@) ue. B, Faqer - ARl —AfEE A=

142.Truth is Man — made’ is the basic idea of which Philosophy ?

(1) Pragmatism (2) Feminism
13) Marxism (4) Humanism
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e gEd MHT B - e R asiT @ onamene gw B

(1) STdfehamare (2) e
(3) HIeRdaT (4) AHIAE

143.The book ‘ Subjection of Women’ is written by whom ?
(1) Mill (2) Sartre
(3) Simone De Beauvoir (4) Dorothy Parkar
‘Hﬁmmeﬂtﬁaﬁﬁw’wgﬁzﬁﬁm@m%@ﬁ%?
(1) T (2) g
(3) dMH T gan (4) e qrEpy

144, Which one is not related to the ‘Social contract theory’ ?
(1) Hobes (2) Locke
(3) Rosseau (4) Maclver
ﬁ?—ww‘ﬁmﬁmmﬁaﬁrm’%w%ﬁ%?
(1) &= (2) <ew
(3) =Y (4) NerEaEx

145.Who has accepted that Jiidna is an adventitings quality of Sou] -
(1) Kumaril (2) Charvaka
(3) Nyaya (4)  Ramanujg
i%m—lrﬁﬁwﬁw%ﬁﬁmﬁeﬂwmaﬂmw%;
(1) FHHRT (2) =9t
(3) =™ (4) THTTA

146.Who had ; ;
GOdo? ad introduced the ontological argument f, the existence of
(1) Anselm (2) Augustine
(3) Aquinas (4) Descarteg
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fFae 29X & Ra™ & ACINEs Y9197 1 qeel grEd fRar an ?

(1) '1_"'3@ (2) G:I_‘T{?ﬂg:f

(3)  weETIN 4) erd

147.In which standard form of categorical proposition both the subject
and predicate ferms are distributed ?

a4 @ B @ 1 (4) O
@“3§“§33Gﬂaﬂféﬁfﬁ?ﬁ%‘ﬁﬂ%ﬁ$qffG§ﬁ§q‘$ﬁfaauiﬁ#TQEzﬂﬁa
< .
(1 a 2 % (3) ot (4) &
148.How many standard form of categorical propositions are there ?
(1) Five (2) Six
{3} Three (4) Four
FeROer gerarad @ o @IFes ST BId & ¢
(1) nir (2) B
(3) d (4) |
149.What is the form of categorical syllogism ?
(1) Mood (2) Figure
(3} Both (4) None of these

Rygirer BETTAT T ST T B g7

(3 STl (2) Gﬂiﬁiﬁ

(3) @l (4) T A HE T

150.The fallacy of infinite regress is aplicable to which of the following ?
' (1} Paratah Pramanya [2) Paratah prakasha

) Anuvyavasaya (4) All the three

ety B @ ST AR g @R BT 8 7
T T

. qTH‘GﬂﬂUq (2) OXC HPIA
Vi) o U
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ROUGH WORK
O &
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o e e & 10 e & st @ 2 o i e § wl g g § e
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T Vo § forerer o wder- v & e, R A W B A GE w6
q q ol
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.m-wa?;ngew&:#mwmﬁa'mwﬁd‘ﬁa’rﬁﬁﬁqﬁaﬁ
a1 w5t 31 vl v gl A gieT &1 FHiE aar 9 & T I w@
o ST pecuicacal : FI¥ g) o
o o 3MTo GF U7 ' aed, W&ﬁzm(aﬁ'
a'\/-fg.gr»m 97 e It Ao Qe aMTe WA e & gfEEa ¥ JuieEd &7 FHAIT
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